< 000000000000 l

U\/JU

I |

l:)(:)(zﬂau:mm > onoconoooooo\

\
\

www.multibrackets.com

li:)(:@u:u:um

M U LTI B RACKET S

Installation
manual

M VESA Bolt Down TV-mount Turn 400 MAX

EAN: 7350105214417

Installation Manual
sdsd ldosose
Instalaéni manual
Installationsmanual
Installationsanleitung
Paigaldusjuhend
Odnyieg eykaraaTaong
Manual de instalacion
Asennusohje
Installation Manuel
nTM ANPIN

Szerelési kézikdnyv
Manuale di installazione
BT HRAE

Mx| HM
Montavimo instrukcija
UzstadiSanas rokasgramata
Installatie handleiding
Installasjonshandbok
Instrukcja instalacji
Manual de instalagéo
Manual de instalare
WHCTpyKLUKMst Mo ycTaHoBKe
Instalacny manual
Navodila za montazo
Installationsmanual
Montaj kilavuzu

REFH

OOOOOOOARIOOOLORIOOOOOOOOEOOO®OG

revision 1.0

www.multibrackets.com

627mm ,
440mm \
min75mm-max404mm )
225mm \

% M\

min30mm-max500mm

534mm

5 )
s}
o) o]

5

[ oo oo 2 ceoccoooooccod

20mm

@2125mm

| oomm 3 000000000000



IMPORTANT!

Your Plasma. LCD, TV, Projector, Projector Screen or other HiFi equipment represents a
considerable value.

If screws are included they may not be suitable for the material of your wall, ceiling or floor.
Replace the screws with suitable ones if needed.

In case you are unsure regarding any aspects of the mounting of this product please
Consult a professional

DULEZITE!

Vs plazmovy nebo LCD televizor, projektor, plétno a dalsi elekirotechnické vybavent je
vysoce hodnotné.

Pokud jsou sougasti baleni produktu $rouby, zkontrolujte, zda jsou vhodné pro upevnéni ke
sténg, stropu nebo podlaze v misté instalace.

V pripads, e nebudou pribalené Srouby vyhovovat, vymiite je

Pokud budete mit pfi montazZi tohoto produktu potiZe, obratte se na zkudeného odbornika.

VIGTIGT!

Din plasmaskaerm, LCD-skaerm, tv, projektor, projeklorskaerm eler andet HiFi-udstyr
repreesenterer en betydelig veerdi. Hvis der medfolger skruer, passer de muligvis ikke til
materialet i vasggen, loftet eller gulvet. Udskift skruerne med passende skruer, hvis det er
nodvendig

Hvis du er i tvivl om noget i forbindelse med monteringen af produktet, skal du kontakte en
ekspert.

BELANGRIJK!

Uw Plasma,LCD TV, Projector, Projector scherm of andere HiFi-apparatuur vertegenwoor-
digt een aanzienlijke waarde.

Het kan zijn dat de bijgeleverde schroeven niet geschikt zijn voor uw toepassing. In dat
geval dient u ze te vervangen door schroeven die wel geschikt zijn. Twijfelt U, raadpleeg
dan een professional

TAHTIS!

Teie teler, projektor, projektori ekraan v&i muu HiFi seade on suure vadrtusega.

Kui kinnitusel on kompleklis paigalduskruvid, siis ei g need sobida Teie seina, lae vGi
poranda materjaliga. Vajadusel vahetage kruvid sobivate

Kui Te ei ole seadme paigaldamise detailides kindel, siis konsuueenge spetsialistiga

ACHTUNG!
Ihr Plasma-, LCD TV-Gerat, Ihr Prolektor Ihre Lemwand oder sonstige HiFi-Ausriistung
stelle einen Wert d

Schvaubon sind unter Umstandon ncht fir das Materil mrer Wiinde, Decken oder Biden
geeignet. Ersetzen Sie sie bei Bedarf durch geeignete Schrauben

Wenn Sle beziiglich der Montage des Produkts unsicher sind, wenden S sich an einen
Fachman

ZHMANTIKO!

Ol mheopdotig Plasma, LCD, a kavovikég TAEOPATEIS, of 086veg TpoBoAéwy i GAAe
GuaKevéc HiFi éxouv pia agioonueiwm agia. Av TepikapBavovrar Bides lows va ny eivar
KaTANAES Y1d TO UNIKO ToU ToiXou, Tou TaBaviod f Tou TIMAUOT6S aag. AVTIKATAOTATTE Tig
BiBEg e KaTAAANAES av eivan amapaiTTo.

TV TEPITTWON TTOU BEV EI0TE GiYOUPO! YIa KATIOIES {NTALATA OXETIKG PE TV TIPOsApTNON
QUTOU TOU TTPOIBVTO, TIAPGKAROUME GUPBOUAEUTEITE £VaV EIBIKG.

IMPORTANTE!

Los equipos de plasma o LCD, los televisores, proyectores y pantallas de proyeccion,
asr como otros equipos de alta fidelidad suponen una inversion considerable. Si incluyen
tornillos, puede que no sean adecuados para el material del que estén formados la pared.
el techo o el suelo. Sustituya estos tomillos por otros mas adecuados si es preciso.

Si no esté seguro sobre cualquier aspecto del montaje de este producto, consulte a un
profesional.

TARKEAA!

Plasma- tai ja niiden seka
muiden Laitteen mukan: Vit ei
valttamatta sovellu seinien, katon a atan materlaalun Korvas no tantassea sopllea
ruuveilla

Mikali olet epévarma mist tahansa taman tuotteen Kiinnittamiseen liittyvasta seikasta, ota
yhteys asiantuntijaan.

IMPORTANT!

Vos écrans plasma. LCD. élévisions, projecteurs, écrans de projection ou autre matériel
Hi Fi ont une valeur considérable. Les vis fournies peuvent ne pas étre compatibles  la
nature de vos murs, plafonds et sols. Remplacez-les par des vis adaptées.

Si vous avez des doutes quant au montage de ce produit, veuillez consulter un professi-
onnel

FONTOS!

Plazma, LCD TV-d, projektorod, vetitévésznad vagy egyéb miiszaki berendezéseid
tekintélyes értéket képvisel. Ha a csavarokat tartalmazza, akkor sem biztos, hogy alkalmas
a berendezés, hogy falra, mennyezetre, vagy a padiohoz rogzitsd. Cseréld ki a csavarokat
amegfeleldre, ha sziikséges. Abban az esetben, ha nem biztos a termék beépitésével
kapcsolatban, forduljon szakemberhez

IMPORTANTE!

I'vostri plasma, LCD, TV. proiettori, schermi di proiezione o altri apparecchi Hi-Fi rap-pre-
sentano un notevole investimento. Le viti in dotazione potrebbero rivelarsi non adatte per il
materiale della parete, del sof-ftto o del pavimento. Sostituitele quindi con viti pit idonee in
caso di necessita

Nel caso riscontriate problemi nel montaggio di questo prodotto, consultate un tecnico
specializzato.

BE)

HBEDTFAT, LCDR, FLE, 7OYTVR, TOITIR—AIU—V &Lt
DNA 77 ABBRABY OEZELET .

FINEENTVDHE, HOSRHRLOE, RAPKOHECHELTVWELAELA

tho
SBCHUTHYZEOTEIEMY HTET.
T—ATE. FRGKOBY FHOVTIAORECHL TTFHERN S5 T OCHEHKLT
<EEWV.

VIKTIG!

Din plasma, LCD, TV, projektor, projektorskjerm eller annet HiFi-utstyr har betydelig verdi.
Huis skruer folger med, er det ikke sikkert at de passer til materialet i veggen, taket eller
qulvet. Bytt skruene i skruer som er egnet om nadvendig.

Huis du er usikker nar det gjelder montering av dette produktet, méa du kontakte en profes-
jonell.

WAGA!
Monitor plazmowy, LCD, telewizor, projektor, ekran projekcyjny lub inny sprzet HiFi stanowi
znaczna wartoéé. Jesli dolaczono do niego $ruby mocujace, moga one nie by¢ odpowied-
nie do materialu, z ktérego wykonane sa dane sciany, sufit lub podioga. W razie potrzeby
nalezy je zastapi¢ odpowiednimi $rubami.

atpl tego urzadzenia nalezy za-
siegnac porady u specialisty.

IMPORTANTE!

O seu Plasma. LCD, TV, projetor, tela de projegao ou outro equipamento de HiFi representa
um valor consideravel.

Se 0s parafusos estdo incluidos eles podem nao ser adequados para o material da sua
parede, teto ou chéo.

Substitua os parafusos com os adequados, se necessério.

Em caso de divida sobre quaisquer aspectos da montagem deste produto, consulte um
profissional

SVARIGI !

Jisu Plasma. LCD, TV, projektors, projektora ekrans vai cita HiFi iekartas veido ievérojamu
Vértbu

leklautas skrives var biit nepiemérotas jisu sienu, griestu vai gridas materialiem.
Nomainiet skriives ar piemérotam skrivém, ja nepieciesams.

Gadijuma, ja jiis neesat parliecinats par jebkuriem So produktu montazas un stiprinajumu
aspektiem, lidzu, konsultéjieties ar specilistu

SVARBU!

Jasy plazminis TV, LCD, LED televizorius, projektorius, projektoriaus ekranas ar kita HiFi
franga turi didelg vert

Jei varztai yra komplekte, jie gali netikti pas Jus panaudotoms sienu, lubu ar grindy medzi-

agoms
Pakeiskite varztus | tinkamus, jei reikia.

Jei nesate tikras dél bet kurio $io produkto montavimo aspekto- praSome kreiptis | profesi-
onalus,

IMPORTANT!

Plasma ta. LCD, TV, proiector, ecran de proiectie sau alte echipamente HiFi reprezinta o
valoare considerabila.

Tn cazul in care suruburile sunt incluse ele nu pot fi potrivite pentru materialul peretelui dvs.,
tavan sau podea.

Remontati suruburile cu cele adecvate, dacé este necesar.

n cazul in care nu sunteti sigur cu privire la orice aspecte ale montérii acestui produs va
fugém s& consultati un profesionist

BHUMAHUE!

Kakum 65 HiFi Bb1 i
CTaHAAPTHLII TENEBUIOP. MPOSKTOP WM MPOEKLVMOHHII SKDaH, - BCE OHN MPEACTABNAIOT
3HAUMTENBHYIO UEHHOCTb. He BCeraa KpenneHus, Npunaraembie 8 KOMNNEKTe, NOAXOAAT K
MaTepwany BalLX CTeH, NoTonKa un nona. Mp HEOGXOUMOCTH 3aMEHNTE U Ha Gonlee
noaxopsive.

ECINy 8aC 6CTb KaKWe-MG0 COMHEHIR OTHOCHTENIEHO TOrO, KaK KpEWTL AGHHbI MPORYKT.

VIKTIGT!

Din plasmaskarm, LCD-skarm, TV, projektor, projektorskérm eller annan HiFi-utrustning
representerar ett ansenligt varde. Om skruvar medfdljer utrustningen ar det inte sékert att
de passar for materialet i véiggen, taket eller golvet! Byt ut skruvarna mot lampliga skruvar
om sé krévs. Kontakta en expert om du ar oséker pa nagot i samband med monteringen av
produkten.

DOLEZITE!

Vas plazmovy alebo LCD televizor, projektor, platno a dalsie elektrotechnické vybavenie je
vysoko hodnotné.

Pokial il siicastou balenia produktu skrutky, skontroluite, &i st vhodné pre upevnenie k
stene, stropu alebo podiahe v mieste instalacie.

V pripade, ze nebudi pribalené skrutky vyhovovat, vymerite ich

Pokial budete mat pri montaZi produktu potiaze, obratte sa na skiiseného odbornika

POMEMBNO!

Vas Plasma. LCD, TV, projektor, projekcijsko platno ali drugo HiFi oprema predstavija
pomembno vrednost.

Ce so vkljuceni vijaki ne smejo biti primerni za material svn]ega steno, strop ali tla.
Ponovno namestite vijake z ustreznimi tiste, e je potrel

V primeru, da ste prepricani o vseh vidikih vgradnjo tega edelka se obrite na strokovnjaka.

ONEMLIl

Plazma, LCD, TV, Projektr, Projektor Ekraniniz veya diger HiFi cihaziniz son derece
degerlidir. Birlikte verilen vidalar duvar, tavan veya déseme techizatiniza uygun olmayabilir.
Gerekiiginde vidalari uygun olanlarla degistirin

Bu riiniin monte sekilleri e ilgili sorunlariniz olmasi halinde bir uzmandan yardim alin.

WARRANTY CARD

MULTIBRACKETS.COM

MULTIBRACKETS ™ Limited Warranty

Multibrackets warrants ts products to be free of defects in

material and workmanship for the product's Warranty Period.

The Warranty Period commences on the original purchase

date of the product

All Multibrackets products are covered

by a limited product warranty:

*FIVE (5) years for metal video monitor mounts; all racks
and non-electrical rack accessories

+TWO (2) years for gaslifts and sit-stand workstations

*ONE (1) year for all motorized and/or automated products,
plastic speaker mounts; all speaker stands; all furniture; all
wood (MDF) accessories

For warranty claims made during the Warranty Period, MULTI
BRACKETS will replace any defective product part free of charge.
should a part on your Multibrackets product fail, please create an
RMA case on www multibrackets com/support to make a warranty
claim. We will await your documentation and then discuss the
problem with you and once we confirm the product is under war
ranty, we will ship replacement parts to you. This Limited Warranty
does not cover the costs of removing and replacing defective parts
from your Multibrackets product. So, if your problem requires a
repair technician, you must pay any labor charges.

“This Limited Warranty extends only to the original purchaser
of the product and is automatically void if your Multibrackets
product is modified in any way, improperly installed, taxed beyond
its stated weight capacity or otherwise misused or abused. All
Multibrackets prodcts are intended for indoor use only and any

outdoor use voids this Limited Warranty. The Limited Warranty for
wall and ceiling mounts is void if the mount is moved from its initial
installation. To the maximum extent permitted by applicable law,
Multibrackets disclaims any other warranties, express or implied,
including warranties of fitness for a particular purpose and war
ranties of merchantability. Multibrackets will not be liable for any
damages whatsoever arising out of the use or inability to use its
prodicts, even if Multibrackets has been advised of the possibility
of such damages. To the maximum extent permitted by applicable
law, Multibrackets disclaims any responsibility for incidental or
consequential damages:

Multibrackets ™ Stockholm Sweden 2016,
www.multibrackets.com

The content of this manual is subject to change without further notice. The latest version of this
manual can be found online under the product name on the website:www.multibrackets.com

www.multibrackets.com

Warning!

Always check the depth of the holes before starting an installation.
s

5 il e B 12 of U
ADVARSEL!

Kontroller altid hullernes dybde, far du gar i gang med en installation

WARNUNG!

Vor Beginn des Einbaus immer die Tiefe der Bohrungen tiberpriifen
MPOEIAOMOIHZH!

EAéyxETe IavTOTE T0 BABOG TWV 0TIV TTPOTOD EEKIVATETE TNV EYKATAOTATN.
1]

WARNING!

Always check the depth of the holes before starting an installation.

JAVISO!

Controle siempre la profundidad de los agujeros antes de iniciar una instalacion
1

VAROITUS!

Selvité reikien syvyys ennen asentamisen aloittamista.

ATTENTION !

Vérifiez toujours la profondeur des trous avant de commencer 'installation.

ATTENZIONE!

Verificare sempre la profondita dei fori prima dellinstallazione.

Varovanil

Pred zahajenim instalace vzdy zkontrolujte potfebnou hloubku véech otvori

ADVARSEL!

Sjekk alltid hvor dype hullene er far du begynner 4 montere.

OSTRZEZENIE!

Przed przystapieniem do montazu nalezy koniecznie sprawdzié glebokosé

otworow.

NPEAYNPEXAEHUE!
Mepen ycraHoBKo Bcerna NposepsiiTe ryGuHy oTBEPCTHI

VARNING!

Kontrollera alltid halens djup innan en installation paborjas.
1!

UYARI

5 e Ll sadl,

Montaja baslamadan énce daima deliklerin derinligini kontrol edin.
=

R T RN EIRRORA .

A(x1)

By

C (x2)

(fr

M6x16 (x4)
E

M6x4
F

M6x25 (x4)
G

(g

M6x30 (x4)
H I (x1)

(Jmmm

M5x14 (x4)
M-A

M6x14 (x4)
M-B

M6x30 (x4)
M-C

M8x30 (x4)
M-D

M8x50 (x4)
M-E

=%
ol

Note: Before installation, please make
sure the front side face toward the
viewing direction. Otherwise, you will
find the TV difficult to adjust.

www.multibrackets.com

° o
° °
° °
[ o
o o
o o

=
[ o

Q|
3

Backside



3 www.multibrackets.com www.multibrackets.com



E

www.multibrackets.com www.multibrackets.com



	页 1
	页 2
	页 3
	页 4

